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"l..il B o ud g g® ai b of i -I.'. n.il [ ..F wd -I -
l ll' 'il - '_ ~ ihli *._‘ F -hl"l- "'__-h s *."'.:1 ‘l i .__-h L
_T_- —————— s B et o %218 Groundwater table
L Vsu = 18 kN/m?
l $' = 35°
PR B LD el e =10
L bl DL N L e e TR
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K,, =tan®*(45- 3—20) =0.333

K, = tan2(45—3—25) =0.271

At z=3m:o, =16*3=48kN/m?
oLy, =48%0.333=16kN/m?

a-up
O youn = 48%0.271=13kN /m?
Atz=6m:c, =48+8*3=72kN/m’
ol =72*0.271=19.5kN/m?
u=10*3=30kN/m?
o, =19.5+30 = 49.5kN /m’

P —16.5 +13%3+36%
2 2

=24+39+54=117kN/m

Pa=117 kN/m

_ * * *
7 _ 24*4+39%1.5+54 1=1.78m
117
16,
- B L I
- |
I
. 1

! ]’EmI
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dool A
QuloN
Jle

Pk ol KA1 e B Leliolge Aacdie Aylae 23 dals sy 6m planly plas,llas
widl 3ad (ac¥l geadl Clus -1

20 kN/m? Gadl Ggu> L8 Jlasll adldl Aiasa clus -2
IHI - -

I %JT Gl Sgu> way Jlaall i) dlams lus -3
Soft saturated clay \\ I_-f_l m

\ | ‘

o y= (I} 6.5 kN/m? \\ HSEY

c, = 10 kN/m? 479m \ 4

\ o,=y.2.K,-2C. K,
\ *
] o A Ga=O:>Z=HC=£=2 10:121m
> T9KN/m! e 14 16.5
ia) B 2
p=0=>K, =1

Atz=0,0,=-2C, =-20kN/m?
At z=6m, o, =16.5*6—2*10=79 kN /m’
D aad Sgus Jud Jlaadl tg_\_!l Un=a

P, :%7/ H?-2C, H=0.5%16.5*36—-2*10*6 =177 KN /m?

: &.«'ZJ‘ Sigus day Jlasll cﬁ.\.” n=a-3

P, =%0'a .(H-H_)=05*79*(6-1.21) =189.2 KN/ m?

: Jle
toalsall g Aley 4355 diy 5.5M aclin)) (bl goliud las Lyl
¢ =35
c=0
7 =17.KN /m?

Nagie JS 5 Ay aldly Jladll Baaaal) e JS Aliane ol Ll digy 4530 medae o al il
Lyl Ay Jladl) Jarall Aliass caal . I JSEH 4 WS o =107 Al Jaa Gl mdans o (al il
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:J=J!
Laal Lyl o alial Alls (1
K, =tg 2(45—3—3 =0.271

Kp =tgz(45—3—25j =3.690

teala¥) laall e Aok jie JSI Jladll Jarall Alias
P, =%Ka7H 2 :%x0.271x17x(5.5)2 =69.68KN /m

P, :%KP;H 2 =%x3.690><17><(5.5)2 = 948.80KN /m
bl lasdl sacld OA% =1.83m gli) o o Gilasall NS 5k Ak
o =10° Ll Lilall Gla 25wl lie) Al (2
A LK, :COSa.cosa—\/cosza—cos% c0s10 - cos210 — cos? 35

= 00510 x =0.282

COS ¢ ++/C0S? ¢ — C0S ¢ c0s10 ++/cos® 10 — cos? 35

ruludl laall e sk e JSI Jladl
P, = % K, H? = %x 0.282x17x(5.5)° =72.51KN /m
L aall 52e e %:1.83m Uil o i Jladl) Tuial) Alana il 3k
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Ssall ,i55 4ils UKl e cnee 90 LSy o) Jazmll ABC cloldl 03155 dalyuty . 5-13 JSadl) gyl

L eloll s e 2
W oldl (39 -1

o O Aol Jead Asazll sldag BC daizell Jl ¥l Goima e padll 58y dablill goall Aiazs -2
S ¥l st e @b LI

dzsll e @bl (528 Lol Juad Aall sdag Palazdl oo 3amly (e Jlaall adll Abaza -3
Slazmlly 201 o SN Buly Jes @lly Slazell (alsll

90 +0+8 —B+d N-0-¥&

F'w

B E .

oS Jlaall Laaall : 5-13 USadl

Laglas (W) LM 598l gu] Of Lay 05-13 ISl ol 98l Elie ey oSy 0519l U 00
ABC LYl sgdiga dal op P, Alaadl 5gall dyases Koy 4518 3adms M (5901 cilaleil o Aoyall

t kLS
W 3 P,
sin(Q0+60+68" —B+¢)  sin(B-4¢)
Or
Sin(B—9) (5-42)

T sin(90+0+6 - f+4)
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vAaY
dool A
QuloN

055 9 (1. AABCs (ABC,) (5,391 malsll daf oo Jlaall qilell adodl iluas Sy 2an Lol iy
A A8Mally Lo ay &1 9 o sST Jlaall addl (2 P, 3 Aalacyl Aol
P, :1 2 2cosgts?—ﬂ)cos_(e—oc) sin(f—¢") (5-43)
2 cos” @sin(B—a)sin(90+6+06'— S+ ¢')
Jal e J Al el yast Jal ey A 66 paie g slLL A S’ ¢’5a 50 s H 5y dalsall )

‘;%:0 il 5 o B ) Rl P (5iie (e Ll ] Al 1 el
Al JSal e i€ 3 Jladl) Jaaill 38e e Juant B ey Janil 5 ALY 28l Jay
pa:%szKa (5-44)
s Al ARl Aamy 5 Jladll adall i ol S Julas Ka
2 r_
K, = cos“(¢'—6) : (5— 45)

cos? 6 cos(5” +6)| 1+ sin(o”+ ¢')sin(¢’ ~ @)
cos(o”' +6)cos(0 — )

Jilas 5 5 % 1 stae el €1 Jladl) pial) Jale sy @ =0, 0= 0, 8" =0 Al 3 4l ) s

Jladll gaall (4l 5 Jala]
o2 Y gl s (0=0) s Silall agn s laad §7 547 o K Jladll gdall oo 8 S ale 525 5-4 Jsall Oy
(0=0) &1 laall Cala

(0=0) Asii lall agas Hlaal 875 ¢ an Ka Jurdll adall Caa sl S Jale 231 5-4 J 52l

Table 13.6 Values of K, [Eq. (13.69)] for&# = 0°, o = 0°

&' (deg) —

Lo (deg) 0 5 10 15 20 25

28 0.3610 0.3448 0.3330 0.3251 0.3203 0.3186
30 0.3333 0.3189 0.3085 0.3014 0.2973 0.2956
32 0.3073 0.2945 0.2833 0.2791 0.2755 0.2745
34 0.2827 0.2714 0.2633 0.2579 0.2549 0.2542
36 0.2596 0.2497 0.2426 0.2379 0.2354 0.2350
38 0.2379 0.2292 0.2230 0.2190 0.2169 0.2167
40 0.2174 0.2089 0.2045 0.2011 (.1994 0.1995
42 0.1982 0.1916 0.1870 0.1841 0.1828 0.1831

00 5-5 0522l 87 505 ¢75 0 el ol 5 o K e dndl il e 5555-6 5 5-5 0 5ol 0
(8'=172¢" Jal 0 5-6 dsaall 58°=2/3¢’
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Table 13.7 Values of K, [Eq. (13.69)] (Note: 5" = 34')

# ideg
o i '
deg) Ideg) ] 5 10 15 20 25
0 28 0.3213 0.3538 0.4007 0.4481 0.5026 0.5662
29 0.3091 0.3467 03886 0.4362 0.4908 0.5547

30 0.2973 03349 03769 4245 04794 0.5435
11 0.2860 03235 03655 4133 04632 0.5326
32 0.2750 03125 (.3545 (4023 04574 0.5220
i3 0.2645 03019 03439 03T 04469 05117
4 02543 02016 (.3335 0.3813 04367 0.5017
a5 02444 0.2E16G 0.3235 L3713 04267 04919
36 0.2349 0Z79 03137 0.3615 04170 04824
EY) 02257 02626 03042 (L3520 04075 0.4732
L 0.2168 02535 02950 0.3427 0.3983 04641
9 (.2082 02447 02861 (L3337 03894 0.4553
40 0. 1998 02361 02774 (.3249 03806 04468
41 0.1918 02278 02689 3164 03721 04354
42 L1840 02197 026006 (3080 03637 0.4302
5 28 0.3431 03845 04311 04843 05461 06190
0 0.3295 03709 04175 04707 0.5325 06056
0 0.3165 03578 04043 4575 0519 0.5926
11 0.303% 03451 03016 4447 05067 0.5800
2 02919 03329 03792 04324 04943 0.5677
EE] (.2803 03211 (.3673 (4204 .4823 0.5558

4 0.2691 03097 03558 (4088 04707 0.5443
15 0.2583 02087 03446 (L3975 04594 0.5330
36 0.247% 02881 03338 (L3866 04484 0.5221
EY) 02319 02778 0.3233 03759 04377 0.5115
L 02282 02679 03131 (L3656 04273 0.5012

19 0.2188 02582 (.3033 (L3556 04172 04911
40 0.2098 02489 02037 (L3458 04074 04813
41 0.2011 02394 02844 (L3363 03078 04TIE
42 01927 02311 02753 03271 (03884 04625
10 28 0.3702 0464 O4686 05287 05092 06834
'] (.3548 04007 04528 5128 (.5831 06672
30 0.3400 03857 04376 4974 05676 06516
11 0.3259 03713 04230 04826 05525 06365
iz 0.3123 03575 D087 4683 (0.5382 06219
i3 0.2993 03442 0.3053 04545 05242 06078
34 0.2868 03314 03822 4412 05107 0.5942
a5 0.2748 03190 03656 4283 04976 05810
16 0.2633 0.3072 03574 4158 (45849 0.5682
EY) 0.2522 02057 03456 4037 04726 0.5558
L 0.2415 02846 03342 03920 04607 0.5437

o 0.2313 02740 03231 (L3807 04491 0.5321
40 02214 02636 03125 (L3697 04379 0.5207
41 0.211% 02537 03021 (3590 04270 0.5087
42 02027 02441 02921 (.34487 04164 04900
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Table 12.7 (continued)

. e 8 [deg)
ideg)  (deg) 0 5 10 15 20 25

15 28 04065 04585 R 05868 06685 0.7670
29 (.388] 04397 04987 L5672 483 0. 7463
30 0.3707 04219 4804 .5484 L6291 0.7T265
31 0.354]1 04049 046259 .5305 061 0 07076
32 0.3384 03887 4462 05133 059350 0.6E95
33 03234 03732 04303 (45549 05761 06721
4 0,30 ] 0.3583 41500 4311 (L5598 06554
35 024954 03442 (40003 4659 (15442 0.6393
36 0.2823 03306 3862 04513 05291 06238
ET) 0. 2698 03175 03726 04373 05146 06089
k] 0.2578 0_3050 (3595 4237 (. 500 05945
39 0.2463 02029 03470 0416 04871 05805
40 0.2353 02813 L3348 (L3980 04740 0.5671
41 0.2247 0.2702 (L3231 (.3858 4613 0.5541
42 02146 02594 m3l8 .3740 4491 05415

20 28 04602 05205 (5000 G674 07689 0.EREBD
29 0.4364 04958 0.5642 L6445 (T4 08581
30 04142 04728 (5403 6195 07144 08303
31 0.3935 04513 05179 0L506] L6E9E 08043
32 0.3742 04311 04968 05741 R 077949
33 0.3559 04121 0 4T69 (1.5532 (i3 0. 7569
34 0.3388 0.304] 4581 (L5335 6241 0.7351
35 0.3225 03771 (4402 L5148 6044 0.7144
36 0.3071 03604 L4233 (45549 L5856 06947

iz 02925 03455 0.4071 (47949 05677 067509
38 Q.2TET 03308 L3016 L4636 (L5506 0.6579

19 02654 03168 03768 (4480 0.5342 0.6407
40 02520 0.3034 (L3626 (4331 05145 0.6242
41 0.2408 02005 (3490 4187 (.5033 06083
42 02294 02784 0 3360 4049 (4288 0.5930
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Table 13.8 Values of K, [Eq. (13.69)] (Note: 5" = &'12)

. e i (deg)
ideg)  Ideg) ] 5 10 15 20 25

0 28 0.3264 0.3629 0.4034 0.4490 0.5011 0.5616
29 0.3137 0.3502 0.3907 04363 04886 0.5492
30 0.3014 03379 0.3784 04241 0.4764 0.5371
31 0.2896 0.3260 0.3665 04121 0.4645 0.5253
32 0.2782 0.3145 0.3549 04005 0.4529 0.5137
33 0.2671 0.3033 0.3436 0.3892 04415 0.5025
34 0.2564 0.2925 0.3327 0.3782 0.4305 0.4915
35 0.2461 0.2820 0.3221 0.3675 0.4197 0.4807
36 0.2362 02718 03118 0.3571 0.4092 0.4702
37 0.2265 0.2620 0.3017 0.3469 0.3990 0.4599
38 0.2172 0.2524 0.2920 0.3370 0.3890 0.4498
39 0.2081 0.2431 0.2825 0.3273 0.3792 0.4400
40 01994 0.2341 0.2732 0.3179 03696 0.4304

41 0. 1 02253 02642 03087 03602 04200
42 0.182E 02168 02554 0.2997 03511 04117

5 28 0.3477 03879 04327 (L4837 05425 a11s
0 0.3337 03737 4185 (4694 05282 0.5072
30 0.5302 03601 O4048 (4556 05144 0.5833
k] | 0.3072 03470 03915 (4422 05005 0.5608
32 0.2946 03342 03787 04292 4878 0.5566
33 02825 03219 03662 04166 04750 0.5437
34 0270 03101 03541 (4043 D4626 0.5312

35 02596 02085 03424 0.3924 04505 0.5190
36 (.248E 02874 03310 (L3808 04387 0.5070
37 02383 02767 03199 (0.3695 04272 04954
38 0.22E2 02662 03092 (0.3585 04160 04840
30 02185 02561 02088 03478 04050 0.4729
40 0. 2000 02463 02887 (.3374 03044 04620
41 0. 19 02358 02788 (.3273 0 3840 04514

42 01911 02276 02693 03174 03738 04410
10 28 0.3743 04187 (4688 (L5261 05028 067D
0 0.3584 04026 (4525 (05040 05761 06540
30 0.3432 03872 4368 4936 05599 06385
] | 0.3286 03723 04217 4TEZ 05442 06225
32 0.3145 03580 04071 04633 05290 0.6071
33 0.3011 03442 03030 4489 05143 0.5
34 0.28E1 03309 03793 04350 O S000 0.5775
35 02757 03181 03662 04215 (4862 0.5633

36 02637 03058 0.3534 (4084 04727 0.54095
EY) 02522 02038 03411 (L3957 04597 0.5361
38 0.2412 02823 03292 (L3833 04470 0.5230
39 02305 02712 03176 03714 (4346 0.5103
40 0.2H02 02604 03064 (L3597 04226 04979
41 02103 02500 02056 (3484 04109 04858
42 02007 02400 02850 L3375 03995 04740
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Table 12.8 (continued)

[
o o' Ideg)
Ideg) Ideg) 0 5 10 15 20 25
15 28 (.40 04594 (L5159 .5812 La5TY 0. 7498
29 (0. 3508 0402 (4964 5611 6373 0.7254

a0 0.3730 04220 04777 0.5419 06175 0.TOED
]| 0.3560 04046 14598 0.5235 0.5085 DGEE4
32 0.3398 03880 4427 0.5059 0.5E03 D.6605

13 0324 03721 4262 (4289 L5627 06513
14 03047 03568 4105 04726 (L5458 06338
15 0.2956 0.3422 L3053 (45659 (L5295 06168
36 0.2821 03282 L3807 4417 L5138 0LE0D
EY) (.2692 03147 L3667 04271 (L4085 05846
3= 0.2569 03017 L3531 (4130 (4838 0.5602
19 (0.2450 0.2893 (3401 (3993 (L4695 05543
40 0.2336 0.2773 L3275 (3861 (L4557 0.53049
41 0.2xx7 02657 L3153 .3733 (4423 0.5258
42 0.2122 0.2546 (L3035 (3604 (4293 05122
0 28 0.4614 05188 5844 (G608 L7514 D.B613
i 0.4374 04040 (L5585 (L6339 L7232 0.E3LS
3n 04150 04708 1.5345 06087 L6968 08034
£} 0.594] 04491 5119 05851 (L6720 07772

32 03744 04286 14506 05628 436 0.7524
33 0.3559 04093 4704 05417 62ied 0.T2ED
14 L3384 03910 4513 1.5216 (L6052 0. TOG6
35 QL3218 03736 14331 05025 L5851 06853
16 0.3061 03571 04157 04842 5658 06640
KT 0.2911 03413 01.3991 Q4668 05474 06453
38 02769 03263 (.3833 (4500 05297 DLG266
1 0.2633 03120 .3681 04340 05127 DLG0ES
40 02504 0.2082 (.3535 04185 04063 0.5912
41 0.23E81 02851 L3395 04037 (4805 05744
42 0263 02725 (1.3261 (.3894 (4653 0.5582
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Pa:1 H?K,
2

cos? (¢’ —0)

SiNG' +4)sin(g —a) |

cos(o' + 8) cos(6 — )

ol Wby (Ka=0.3872 de (a=i(8=1/2¢) 5-6 Jgazm!l J] Bag2lls of Aaludl A8Mally augaslly

P, = %"‘15*42 *0.3872 =46.46kN/m

K =

a

cos® 8 cos(d’ + 9){1+\/

Slazl] Al do gl e @I e §'=15° gy Juads el e H/3=4/3=1.33m uay e Wasell s.in pas
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[180 — (90 — 8 + &) — (B + ¢")]
Y

(b)

o580 bl Ll 514 <

P S ka5 (6 B il (g

W ___ R
sin[180— (90— 0 +68)—(B+¢")] sin(B+¢')
sl gl saal s e aludl & il ia Pp
P - sin(f+¢") W (5—47)
P sin[180— (90— 60+ 8) — (B +¢')]

(5-46)

;ORI FL) A8al) S (S

1
P, :Ey/HZKp (5-48)
2 '
Kp _ cos“(¢'+6) (5—49)

Sin@ + §)sin(g +a) |
cos(o’ — @) cos(a —6)

cos® @ cos(5' — 9){1—\/

((0=0) il lgadass ASSie 4y i AdlA Jany (8=0) walel 5 (0=0 ) S5l ilal) aadans Hlaa Al 8

s Sl <D e Sy g g 51l adall Jalad 28Dlal Jilas oduadl il Jdle zrsay
1+sing’ 2 @'

=—=tan"(45+— 5-50

P 1-sing’ ( 2) ( )

(8 5 dan s Jlaall I i ila an s AT 57 5 7 e e el @l ae sl S ke 583 527 Jsaadl o
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Table 13.9 Values of K, [Eq. 13.71] for 8 = (°, & = 0°

5’ (deg) —

L& (deg) 0 5 10 15 20
15 1.698 1.900 2.130 2.405 2.735
20 2.040 2.313 2.636 3.030 3.525
25 2.464 2.830 3.286 3.855 4.597
30 3.000 3.506 4.143 4.977 6.103
35 3.690 4.390 5.310 6.854 8.324
40 4.600 5.590 6.946 8.870 11.772

I35 $93 paslumdl (e JLadll bl sg8

sz SN W 352l e 0 ad s Baalyd Lot aol Bylall AST 2Salidl 4 2y lall yias
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Jtes S (515 Sall) g ¥1 sgdige Ja5 3S5a 5355 (<K, Wosl) +K, . W5 Ky W 28l 48 Alllae
Db ¥ sediga Gess LN 059 W
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D A8Mally 34all sda dayd
Pae =% H ? (1_kv) Kae
cos®(¢' -6 - )

e 1/2) 2
cos?® 6 cos B cos(5' + 0+B){1+ {sin(&’ +¢7)sin(g’ ~a —ﬂ)} }
cos(o’ + 6+ p)cos(6 — )

and

= o Ky
p =tan (1_k J (5-51)

Kv=0 5 0=0 dl> 3 Kae xi3 5-8 Jouz!l cna

KeemK 1058 JWb 5 B =0:016 JIs%5 5529 pie Jl> @ 4T 2asladl A8Mall (o Lasdls
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A lshad) g Lol lash dadi Glus (Say L) 5« Sailiad] Gludl § Jlxdl sa LS laz)
5-51 &8Mall e (I35 il slae! ae (Seolipadl Jlaall abull aliazs) P, ol -1
5-44 28Matl e (UL 30 5lae) g0 (Ssliadl Jlaadl addl Aiams) P, coluas -2

5-4528Mally LTy LS oy 6l 9 cundoSI (Ssliad) Jlaadl a8l Jalas 9o K, o>
AP, =P~ P, JII il (e @bl 201 ads Aiazme § Gyall AP, il -3
(5-16 JSadl) slazdl ol oo H/3 2dlue e 4355 P, o 2,8 -4
(5-16 JSad!) lazd) Jawd o 0.6H 23luw e 4355 AP, of (2,5 -5
A 28l e P Aliamll odas daas Gluos -6

H

AP (0.8H)+P,

Z= 5 (5-52)
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Kv=0 5 0=0 dl> 3 Kae pai: 5-8 Jyux!!

Table 13.10 Values of K7 [Eg. (13.75)] with & = 0° and k, = 0

&' Ideg)
Ky & jdegl @ |deg) 28 20 35 40 45

(1N [i] [i] A7 0397 1328 0268 217
14 0508 0473 130G 0382 [ s v}
03 0&all 0569 0ATE 0.4 L334
4 0753 69T 581 0488 [ T
0.5 1.5 .B00 .76 059 (05000
(1N [i] 5 0A5T 0423 0347 0282 027
14 0554 0514 0424 0.34% [
03 X 1635 0.522 0431 L3568
4 0942 0E2S L653 0.535 0442
0.5 —_ — .855 0.673 551
(1N [i] 10 0497 0457 0371 0.29%% LI38
14 [ k] 0570 0461 0375 0.303
03 DRSS .T48 1.585 0472 L.383
4 —_ — . TRO 0604 L4RE
0.5 —_ — — 0By 624
(1N &12 [i] D308 L368 030G 0.253 03T
14 DAES L452 1.3E0 0319 L35T
03 0604 L.563 0474 0402 0340
4 0778 .78 500 0508 433
0.5 1.115 0972 0774 0648 .552
a1 g2 5 048 .306 1326 0268 0.Z18
14 0537 497 0412 0342 .83
03 6o L640 1.526 0438 L3567
4 1.025 .ER] G50 0568 0475
0.5 —_ — (L.96T 0.752 (LG20
(1N &12 10 0472 433 1352 0285 L2530
14 0als L.562 0454 0371 0.303
0.3 0908 .TEO a0z 0487 4000
4 —_ — 85T 0.656 L531
0.5 —_ — — 0944 0722
(1N %q}" [i] 0303 0366 030G 0256 212
14 0ABS 454 1384 0326 [ s
03 0&a12 0572 1 4BG 0416 0L357
4 0801 0,740 622 0.533 Ld&2
0.5 1.177 1.023 819 0693 (600
(1N %q}" 5 A7 0305 0327 0271 .24
14 0541 0500 0418 0350 .2134
03 0714 L655 1.541 0.455 L386
4 1073 0521 0722 R L5
0.5 —_ — 1.034 0812 LE6TH
(1N %q}" 10 0472 434 1354 0290 0L237
14 0aZS 0570 0463 0381 0317
03 0942 0EB0T 624 T 423
4 —_ — .90 0.9 0.573
0.5 —_ — — 1.037 [ K]
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Jbe
4SS L5 4als jommye 0'=15° AUl dagll Sasl Auglsy Jodl & Lalidl dzg « H=4m dclasyl jlax
-k, =0,k, =0.2 550 gl wdll culSpag y =15.5kN/mM?, ¢' =35° : JIIK Lils solgey bl L w

Lagdas Aladig Py JSI Jlaall adll diasms dyies culla,

Jadi

B= tanl(l khk j = tanl(o;zoj =0.1974rad =11.3°

cos’(¢' -0 - )
sin(s" + ¢')sin(¢' — a - B)Tz}z

cos“ @ cos COS(5'+9+ﬂ){1{cos(5'+e+ﬁ)cos(«9Ot)

2
K - cos“(30-0-11.3) 0452

2
sin(15+30)sin(30—0—11.3)T2}

cos?0cos11.3¢cos(15+0+11.3){1+
cos(15+0+11.3)cos(0—-0)

P, = %7 H?(1-k,)K,, = %*15.5*42 *(1—0)*0.452 = 56.06 kN /m
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_ cos® (¢’ —6)

a cos? @ cos(5' + 6) 1+\/sin(5'+¢’)sin(¢'—a) 2
cos(o' + @) cos(6 — )

2
K - cos“(30-0) 0301

a - - 2
cos? 0 cos(15 + 0)| 1+ sin(15+ 30)sin(30 - 0)
cos(15+0)cos(0-0)

P :%yHZ K, =%*15.5*42*o.3o1=37.32 kN/m

a

AP, =P, —p, =56.06-37.32=18.74kN/m
Dlaadl 3ac 8 e Pge (audat 4dasy ey

P, (';J +AP,,(0.6H) 37.32[gj+18.74(0.6*4)

P 56.06

ae
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Active Case (c'-¢" Backfill)

The Mononobe—Okabe equation for estimating P,, for cohesionless backfill also can be
extended to ¢'—¢b" soil (Prakash and Saran. 1966; Saran and Prakash, 1968). Figure 13.30
shows a retaining wall of height H with a horizontal ¢'—¢" backfill. The depth of tensile
crack that may develop in a ¢'—d" soil was given in Eq. (13.48) as

Figure 13.30 Trial failure wedge behind a retaining wall with a ¢'—¢" backfill
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Referring to Figure 13.30, the forces acting on the soil wedge (per unit length of the
wall) are as follows:

*  The weight of the wedge ABCDE, W
»  Resultant of the shear and normal forces on the failure surface CD, F
+  Active force, P,

« Horizontal inertia force, k, W L
= Cohesive force along CD, C = ¢'(CD)
*  Adhesive force along BC, C' = ¢'(BC)

[t is important to realize that the following two assumptions have been made:

|. The vertical inertia force (k,W) has been taken to be zero.
2. The unit adhesion along the soil-wall interface (BC) has been taken to be equal to
the cohesion (") of the soil.

Considering these forces, we can show that

P,.=vH — z,)’Ny, — ¢'(H — 7,)N},. (13.93)
where
, _cosm' sec + cosd' seci
Nee = sin(n' + 8') (1399
n + 0.5)(tan8 + tani) + n*tan #)[cos(i + &') + ky sin(i + ¢’
v, L+ 05X )+ P Olfcosi + )  kysini + 40
sin(n' +8")
in which
n=0+i+dq' (13.96)
Lo
= 13.97
"TH g, (1397

The values of N, and N, can be determined by optimizing each coefficient separately.
Thus, Eq. (13.93) gives the upper bound of P,,.

For the static condition, &, = 0. Thus,
P,.=vH - zD}ENn —c'(H — z,)N,. (13.98)

The relationships for N_and N, can be determined by substituting k, = 0 into Eqgs. (13.94)
and (13.95). Hence,
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_cost'sect + cos b’ seci

N, =N! 13.99
o o« sin{n’ + &') ( )
N, n + 0.5)(tan  + tan i) + n° tan Olcos(i + &'
N, =N _ L1+ 00 + wni) + wnbloosi +4) (0
A sin(n' + &')

The variations of N, N,,, and A with ¢" and 8 are shown in Figures 13.31 through 13.34.

Earth-pressure coeflicient, N

45+ — 45

4.0 - = 4.0

1
L
1
|
—
LA
a

- 3.5

1
=
1

i
L
|

=
[=]
]

¢ (deg)

Figure 13.37 Variation of N,_ = N . with ¢" and 8 (Based on Prakash and Saran, 1966, and
Saran and Prakash, 1968)
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Figure 12.32 Variation of N, with ¢¢" and # (n = 0.2) (Based on Prakash and Saran, 1966, and
Saran and Prakash, 1968)
476

1.0 - - 1.0
n=1
0.8 - - 0.8
&
or
=
Z 06+ - 0.6
g
g
£ 04 - 5° L 0.4
(=3 I
£
)
0.2 - - 0.2
0.0 I I I I I I I I 0.0
0 5 0 15 22 25 30 35 40 45

&' (deg)

Figure 13.33 Variation of N, with ¢" and & (n = () (Based on Prakash and Saran, 1966, and
Saran and Prakash, 1968)
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Figure 13.34 Variation of A with &, ¢, and 8 (Based on Prakash and Saran, 1966, and Saran

and Prakash, 1968)
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Example 13.10

For a retaining wall, the following are given.

« H=28ft  « ¢ =210Ib/fd
« 0=+10° « y=1181Ib/fe
. & =20° e k=01

Determine the magnitude of the active force, P,,.

Solution
From Eq. (13.48).
- ZCK _ 2c 7 _ (2)(210) - _ 508 ft
¥Nita ‘ytan(45—7) (118)tan(45—7)

From Eq. (13.97),
L~ SO8
H—z, 28—508

From Egs. (13.93), (13.99), and (13.100),
P = ¥(H — 2, (AN,) — ¢'(H — 2,)N,.
For 8 = 10° ¢’ = 20°% k, = 0.1, and n =~ 0.2,
N, = 1.60 (Figure 1331)
N,, = 0375 (Figure 13.32)
A=1.17 (Figure 13.34)

=022=02

n:

Thus,

P, = (118)(28 — 5.08)%(1.17 x 0.375) — (210)(28 — 5.08)(1.60)
= 19,496 Ib/ft
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